
Comment : Aggregating the States of a Markov
" "

chair into superstates can lead to a new

process which is not a Marka chair
.

Here is an example : Consider first the Marka chain

( xn
,

nzo ) with state space E- { o ,
e

,
2

,
s } and

transition graph :

tons.

⑨ ⇐ ②at



Consider now the process (

Ya
,

n z o ) with state space

S
'

= { A
,

B
,

C } and the correspondence :

4-
A ← X

:O, I
-

- B ←

¥-1
or 2

,E-
C ←

f-
3

The process ( Yn
,

n za ) is not a Marka chair :

PC Yuta = A I I = B
,

Ya
. .

= A ) = Is
while

PC Yuen = A I % -
- B

,
I

. .
= c) = Is

The problem is that in the first case
,

Yu -
- B means actually the

(because Yu
. a

= A
,

ie
.

X
. .

= o )
,

while in the second case
,

it means Xn = 2

( because Yue  
= C

,
ie

.
Xn

. ,
=3 )

.


